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num1 = sc.nextint();

if (num >=90) {
System.out.printf("A");

/] BITE_17 }else if (num >= 80) {
num2 = sc.nextlint(); }e?g’sfem-ouw”“tf( B");

J System.out.printf("C");
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class web{
public static void main(String[] args) {
inti=>5;

while (true) {
System.out.printin(i);
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}
System.out.printin( );

}
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class web{ . - 7
public static void main(String[] args) { §Z|;|7<_:1E$MT\+ o
inti=5; while &3 - 35S
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while (true) { EZIT ?
System.out.printin(i); [
I--;
}
|System.out.print|n( );]

}
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mort java.util.Scanner;
class web {

public static void main(String[] args) {
Scanner sc = new Scanner(System.in);
int count = sc.nextint();
inti=0;

while (i<count) {
System.out.printin( ); HaHaHa!
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i++;
} HaHaHa!

}
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MOOrt java.util.Scanner; \
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class web {
public static void main(String[] args) {
— j’ — q Scanner sc = new Scanner(System.in);
k EREEEH"fWM”EO @ int count = sc.nextint();
while 8zt X830 715

ﬂl- @ inti=0;

|
while ( i<count ) {
[true]
Q%1 | [false]

System.out.printin("HaHaHa!");

OLi++|
}

\_ J

)
1: while F&FF

HATRURGIL T,

@




while 1228 - & EE

RAIREL
ABERB A

count &

import java.util.Scanner;

class web {
public static void main(String[] args) {

Scanner sc = new Scanner(System.in);
int count = sc.nextint();
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